BLUE PLAQUE WITH INTERNATIONAL SYMBOL OF -

ACCESSIBILITY. SIZE VARIES WTIH USE (PUBLIC
BUILDING ENTRANCES, ASSIGNED WHEELCHARR

POSITIONS AND ACCESSIBLE LOCKERS).

ISA BUILDING ENTRANCE SIGN

6 =1
DT-SIGNAGE 21

TEMPERED
SAFETY GLASS

ALUMINUM FRAME,

L | l@ % BEYOND

S ) 5
~ ™~

"~ IMEETING |

DOOR THRESHOLD~ SEE
DOOR HARDWARE

SCHEDULE
. <
WALL PLAQUE WITH 5/8" TACTILE COPY, RAISED 1/32°, a4
AND CALIFORNIA GRADE 2 BRAILLE. MOUNTED ON LATCH Y
SIDE OF DOOR, 6" AWAY FROM FRAME AND 5'-0" ON

CENTER AF.F. #10 X 1 1/2" FHWS @ 127

0.C. ANCHOR BY MANUF.

|l=———CONTINUE TO UNDERSIDE
OF CLOSURE PIECE

\ ATTACH TOP TRACK WITH
HILTI X-S513 STEEL

FASTENER @ 8" 0.C.

\

3/4" FRY REGLET

"W" MOLDING

3 5/8" METAL STUD DIAGONAL
BRACING TO ROOF DECK @
CORNERS AND MID SPAN CF
OPENING, EACH DIRECTION
ATTACH WITH 3-#10 SMS

- l=——5/8" GYP.BD. OVER
METAL STUDS

\ SUSPENDED ACOUSTICAL CEILING

ROOF HATCH CEILING OPENING

T

I

PLAN VIEW

3" =1-0"
DTOSRCO2 13

2x 3 1/2 x20 GA METAL
STUDS AS COMPRESSION

STRUT. SECURE W/ #12 SMS
MIN. 3/8" LONG AT 18" 0.C.
AND MAX. 6" FROM EACH END

NOTCH COMRESSION STRUT
AROUND CROSS RUNNERS AS
REQUIRED

——— SECURE BOTIOM OF
COMPRESSION STRUT TO MAIN
RUNNER WITH 2 — 1/4” DIA
MACHINE BOLTS\/\

i
it
i
|
|
|
i
|
i
d
|

6" =1’
ROOM IDENTIFICATION SIGN |————4 22

DOOR THRESHOLD - EXTERIOR

3'=1'-0"
DT08DRO3 1 8

3'~6" MIN.

_—— GUARDRAIL, PAINTED
(INSERT)

1 /R,4> e, AN, FIR.

23 3/8" x 2* BENT PLATE-
/ @ 6’0" 0.C. MAX. (MIN. 2)
OFFICE e
| PAINT ALL 6" CIR

of / 3/8" X 2 1/2" PLATE EXTEND 2"

EXPOSED % » EA. SIDE PROVIDE MIN. 6 — 1/4"
[{o]
SURFACES -

A

3/8" MIN.
1/2" MAX.

/ TYP.

°©/

TAPCON SCREWS W/ MIN. 1 3/4”
Kl/ EMBED INTO MASONRY (TYP.)

] 1 /84> v,

/— 3/8" X 2" PLATE EXTEND 4" EA. SIDE

W/ 2-5/87 HILTI KWIK BOLT 3 W/
/ MIN. 4” EMBEDMENT W/ 2" MIN. EDGE
DISTANCE AT STEEL

WALL PLAQUE WITH 5/8" TACTILE COPY, RAISED 1/32",
AND CALIFORNIA GRADE 2 BRAILLE. MOUNTED ON LATCH )
SIDE OF DOOR, 6" AWAY FROM FRAME AND 5'-0" ON

CENTER AF.F. '

FINISH FLOOR OF
ELEVATOR PIT

L,L
T nax,

FRONT VIEW

SIDE VIEW

REFER TO DSA IR25-2 FOR
ADDITIONAL INFORMATION

OFFICE IDENTIFICATION SIGN LADDER @ PUMP PIT

1/4*=1'0"
DT10ELO7 1 9

6' =1
DT-SIGNAGE 23

i i

| ]

i |

i |

f f

| |

I |

' L 1
MAXIMUM | \ |
OCCUPANT y T
C C | |
APACITY ; 1

2579 , ; ;
PERSONS = g

} | ADJUSTABLE SHELF

| | PoMbE Bhcowe T

| | w1 e ¥

| i SMS.  STANDARD
WALL PLAQUE SCREEN PRINTED 1-1/4" COPY : ° 1F;;\§T|-:NER SPACING MIN.

1-1/2" = 10"
20

shelves

4 ' =1
MAXIMUM OCCUPANCY SIGN |+ 24

SHELVE STANDARD

BOTTOM OF COMPRESSION STRUT

3" = 10"
DTO9RCO9 14

METAL DECK
PER STRUCTURAL

1

| \—‘
43 % 127

REBAR

P

(2) #8 x %’
SELF-TAPPING

STEEL STRAP 3"W x 4"L x 12
GA. MIN.

SPLAYED SEISMIC BRACING WIRE
SECURE TO CLIP WITH 4 TIGHT
TURNS

HANGER WIRE-TIE TO #3 REBAR
WITH 3 WRAPS AROUND REBAR
AND ONE WRAP AROUND WIRE

(PER DSA IR M-3 FIG. 5D.)

AT STEEL DECK

METAL DECK PER STRUCTURAL

}w— STRUCTURAL STEEL BEAM

HILTI "EDNI-22-P8" POWER ACTUATED
4— FASTENER (ICBOf 2388)

1"W x 2°L x 13 GA. MIN. METAL CLP

. VERTICAL HANGER WIRE (TEST FOR
200 LBS.)

SPLAYED SEISMIC BRACING WIRE
(TEST FOR 440 LBS.)

[ N

AT STEEL BEAMS

REFER TO DSA IR25-2 FOR
ADDITIONAL INFORMATION

| «— RADIUSED TOP @ BACKSPLASH (%" RADIUS)

WATERFALL EDGE @ COUNTERTOP, WORKSURFACE,
AND LOWER CABINET (%" RADIUS)

RADIUSED INSIDE CORNER (4" RADIUS)

——PROVIDE EXTERIOR GRADE
PLYWOOD AT ALL WET SINK
LOCATIONS

S
- SELF-EDGE WTH DRIP GROOVE
(@ ALL WET SINK LOCATIONS)
S /
® BACK SPLASH T

CABINET DOOR (WHERE OCCURS)

12
MAX

@ COUNTER TOP EDGE

TYPICAL PLASTIC LAMINATE|  FuLL 09
BACKSPLASH & COUNTERTOP EDGES| oroswpi2

... 8" .
~JOR WITHIN 1/4 THE LENGTH OF THE END TEE, WHICHEVER IS LEAS%F

MIN. 6" FROM
UNBRACED DUCTS, PIPES, CONDUIT, ETC.

MAIN RUNNER

ACOUSTICAL CEILING
TILE

N

oo

FASTENER

SUSPENDED CEILING SYSTEM
SHADOW MOLD. #12 SDST
SCREWS TO METAL STUDS;
3/16" X 2" TIGHTEN SCREWS
INTO GROUT LINE AT MASONRY
WALLS

NOTE:
1. ALL FIXED ENDS SHALL ATTACH TO STUD WALLS.
2. REFER TO DSA IR25-2 FOR ADDITIONAL INFORMATION

SPLAY WIRE CONNECTION

11/2"=1'=0"
DTO9RC19 1 6

6" =1-0"
CEILING @ CONNECTED WALL [———— 11

12 GA. SUSPENDED CEILING HANGER

NOTE: WIRE AT 4'-0" 0.C. EACH WAY. 3
FOR CONNECTION OF BRACING & TIGHT TURNS WITHIN 1 1/2”. NO

HANGER WIRES TO THE STRUCTURE SPLICES ALLOWED. NOT MORE THAN

ABOVE SEE 1IN 6 OUT OF PLUMB.

12 GA. SUSPENDED CEILING SPLAY
BRACE WIRE WITH 4 TIGHT TURNS
IN 1 1/2". NO SPLICES ALLOWED.
ORIENT 80" FROM EACH OTHER.

COMPRESSION STRUT. STEEL
SECTION WITH 1/r RATIO OF

200 MAX., SEE m
S,

SUSPENDED CEILING
SYSTEM MAIN RUNNER

-SUSPENDED  CEILING
SYSTEM CROSS RUNNER

B ~y//

SUSPENDED CEILING
SYSTEM CROSS RUNNER
AT 2'x2" CEILING SHOWN
DASHED

REFER TO DSA IR25-2 FOR
ADDITIONAL INFORMATION

1/8" = 1'-0"
12

DTO9RC16

SPLAY BRACING DETAIL

DOUBLE STUDS AT SIDES
OF OPENING

16 GA. STUD
STUD PER SCHEDULE

SCREWS PER SCHEDULE

DOUBLE STUDS AT SIDES
OF OPENING

BACKING TRACK — TYPE B

16 GA. STUDS — TYP.
STUD PER SCHEDULE

FULL LENGTH WELD
TYPICAL AT WEB &
FLANGES OF BACKING
TRACK TO STUD
TYPICAL

SCREWS PER SCHEDULE

BACKING TRACK

SCREWS

MIRROR

6 X 16 GA. STUD

(3) #10 TEK SCREWS

CASEWORK

6 X 14 GA STUD

(4) #10 TEK SCREWS

HAND RAIL
GRAB BAR

6 X 14 GA STUD

(4) #10 TEK SCREWS

NOTE SEE 01/S6.1 FOR ADDITIONAL INFORMATION

BACKING TRACK NOTES:

1. BACKING TRACK TYPE 'A'~ FOR MISCELANEOUS ITEMS LE. SURFACE
MOUNTED MIRRORS, WASTE RECEPTACLES, TOWEL DISPENSERS, ETC.,
MAXIMUM WEIGHT — 50 POUNDS

2. BACKING TRACK TYPE 'B'- FOR UPPER WALL-HUNG CABINETS (UP TO
2 SHELVES), BASE CABINETS, FULL HEIGHT CABINETS, FILM VIEWING
COUNTER, WALL-HUNG BENCHES, HANDRAILS, GUARDRAILS, GRAB BARS,
WALL-HUNG EQUIPMENT, TOWEL BARS, ETC., MAXIMUM WEIGHT 250 POUNDS.

3. VERIFY LENGTH, HEIGHT, LOCATION OF BACKING PLATE & NUMBER
REQUIRED WITH EQUIPMENT ACCESSORY MANUFACTURERS.

4. USE #12 SELF TAPPING SHEET METAL SCREWS WHEN ATTACHING

[TEMS TO BACKING PLATE.

5. WALL STUD FLANGES ARE
CONTINUOUS,

6. BACKING TRACKS sHALL BE LONGER THAN HUNG EQUIPMENT/
ACCESSORY/CABINET BY ONE STUD SPACING EA. END-ALL CONDITIONS.

NOTE:

1. CONSTRUCTION SHALL BE W.L.C. 'CUSTOM’ ‘S’{ANDARDS; PLASTIC LAMINATE PER FINISH LEGEND:

W/ WHITE MELAMINE INTERIOR

ALL COUNTER TOP SURFACES TO BE PL1
ALL VERTICAL SURFACES TO BE PL2

02

2. SEE

(B

A,

COVED BACKSPLASH

/_\ FOR ANCHORAGE INFORMATION

24" UON.
(WHERE OCCURS)
1”
PLASTIC LAMINATION _
COUNTERTOP SEE /09 \ \ -
U ¥ - BLOCKING
_ *
4” WIRE PULL—FINISH TO Kjﬁ (2 i,
MATCH DOOR HARDWARE ————— =] ATTACH TO /)(
PLASTIC LAMINATE ?éktsgggwéf %
DOOR STOP 16" 0.C
PLASTIC LAMINATE _
CABINET DOOR S
=
[ H 5
) o
ADJUSTABLE P.LAM. SHELF td
RECESSED HEAVY DUTY ADJ.
SHELF SUPPORTS W/ SHELF ] i
CLIPS Y
PLASTIC LAMINATE BASE == “ |

BACKING TRACK

3/8" = 1'-0"
DTO5WA04

4

12 GA. SUSPENDED
CEILING HANGER WIRE AT

A

4

~ 4-0" 0.C. EACH WAY. 3

TIGHT TURNS WITHIN 1

1/2". NO SPLICES
ALLOWED. NOT MORE

7 THAN 1 IN 6 OUT OF
\ PLUMB.
SPLAYED BRACE WIRE

WHERE OCCURS, NO
SPLICING ALLOWED

06

AERREREERREERRRERRRE

REFER TO DSA IR25-2 FOR
ADDITIONAL INFORMATION

THRU. CONNECTION W/ #6
SMS

SUSPENDED CEILING
SYSTEM MAIN
RUNNER. LEVEL TO
WITHIN 1/8" IN 12’
SUSPENDED CEILING
SYSTEM CROSS

LOWER CABINET

3-#10 X 2

1"=1'-0" 01

DTO6MI04

NOTE:

BLOCK & ANCHOR EA. SIDE
OF EA. CABINET

1/2” FLAT HEAD

WOOD SCREW @ 6"0C

CABINET FRAME

=

2x4"x16” PRESURE

TREATED NAILER

AN

A/

2x4"x16" PRESURE
TREATED NAILER

A

3/8" KWK BOLT 3
MIN. 2” EMBEDMENT @
18" 0.C.

#10x3” FLAT HEAD WOOD
SCREW @ 6" 0.C.

TYPICAL HANGER WIRE

RUNNER

SUSPENDED

CEILING SYSTEM

PANEL
6"=1'-0"
DTO9RCO8

07

CABINET ANCHORAGE

8”

) OR WITHIN 1/4 THE LENGTH OF THE END TEE, WHICHEVER IS LEAST

3'=1'-0"
DT06WDO8 02

S TIGHT TURNS

PLUMB.

12 GA. SUSPENDED CEILING
SUPPORT WIRE AT 4'-0" 0.C.

WITHIN 1 1/2”

NO SPLICES ALLOWED. NOT
MORE THAN | IN 6 OUT OF

MAIN RUNNER

HEAD TOWARD CENTERLINE OF

SPAN OF STRUT

INTERLOCK STRUT W/ 6D
RINGSHANK NAILS AT THE END

% OF HORIZ. STRUTS PLACED W/

1/2"
MIN

P
o

AENEREERENNRRERRRNnnNny

IATNNNn

B

I
ACOUSTICAL CEILING TILE

METAL FASTENER

SUSPENDED CEILING SYSTEM
SHADOW MOLD. #12 SDST

SCREWS TO METAL STUDS

NOTE:

1. INTERLOCK STRUT IS NOT REQUIRED WHERE THE PERPENDICULAR DISTANCE

FROM THE WALL TO THE FIRST PARALLEL RUNNER IS 12" OR LESS.
2. REFER TO DSA IR25-2 FOR ADDITIONAL INFORMATION

CEILING @ WALL SLIP

6"=1'-0"
DTO9RCO4 03

McCarthy Building Companies, Inc.
343 Sansome Street, 14th Floor
San Francisco, California 94104

P 415 |364-1339

F 415 [397-5999

IDENTIFICATION STAMP
DIV. OF THE STATE ARCHITECT
OFFICE OF REGULATION SERVICE

ARPL. #: 01-110097

\
AC P( FLSBV\ SSD’\V‘\
~J___APR 092009

DATI

FILE NUMBER:

This and oll other project documents and oll ideas, aesthetics
and designs incorporated therein are instruments of service. Al
project documents are the registered property of LPA, INC.
(LPA) and cannot be lawfully used in whole or in part for any
project or purpose except as described in the contractual
agreement between McCarthy ond the District. LPA hereby
gives formal notice that any such project document use,
reproduction or modification {misuse) is not only unlowful but
automatically binds aff parties involved with misuse to fully
indemnify ond defend LPA and LPA's Consultants to the
maximum legal extent against all losses, demands, claims or
liobilities arising directly or indirectly from project document
misuse. Project documents describe design intent of work and
are not o representation of as—built or existing conditions.
LPA and LPA’s Consultants make no representations concerning
the accuracy of documents and are not responsible for any
discrepancies between project documents and the existing
conditions.

(©) Copyright 2008

o
-
R
0o
[H]
(@)
2
o 3
et >
wht =
] c
= 2
€
- £
3 3
] &
N o< >
= @ O 5
° .! - . O
0 9 £ 0
Q (03]
® = T O
Opn © o D
2] S 8 w©
—— - - L)
o — (U 5 [
3]
OwVw an
o
3
1a
5
=3
S
8
[m]
8
2
3
2
0 ®
HEIE
SIS
=
L E
Vi
RN
o
e
E
=1
§|15 2
8T
o
173
1S5S
o0
8
¥
3
hid
Job. No. (FILED IN 27082.20) 27082.30
Date 09 APRIL 2009
Drawn by HE
Checked by JR
Scale AS SHOWN
A4.12




